
Two by Regson

The unclued answers are ENAMEL and TIPTOE

These two words plus the clue answers can be made into
a pair of 6x6 word squares as shown.

R E M A D E P A S T O R

E N A M E L A T T I R E

M A C U L A S T U P I D

A M U L E T T I P T O E

D E L E T E O R I O L E

E L A T E D R E D E E M

AMULET A + MULE + T
ATTIRE TA< + TIRE
DELETE (L + ET) in DEE
ELATED ELA + TE + D
MACULA MA + (ALU + C)<
ORIOLE ORIOn + LE
PASTOR PA + S + TOR
REDEEM REd + DEEM
REMADE MAD in REE
STUPID (DI + PUTS)<


